1.
Ans

st CHIRE G AP - T EE <~ - Bl d o

Py HEE (108/1)

i it~ e <V 4 o (2% each, 8% total)

B

Ji

AR BARM e §AITE AP

Ans:

3.

Ans:

Ans:

it 5 2 e DT > £(2%) ~ HAFE B2(2%) & f§ i IT 2w DT ez + M4t &
% (2% each, 10% total) °

DT - @ % T L g? $ ji(Data Technology) © (2%)

DT pF i Rz~ B~ e 4 A 4 5 3 andljis - (2%)
B ] E A EE(2%)

B ECR%

m EPRAA#H

it T3 me 4 Mrig ez < RTA#IER V4 B AR £ 87 (2% each,
12% total)

o Tt ) WIRRIRTAHER I T2 ~$\5%J_5%ﬁﬂbo(6%)
ESEELEE FENILY =/ St
*3_;\ mf, q‘-’r F P é’ﬁ“‘;’:‘?lj'}f ?7}"'9"5; 3 m 5 l
R R R (R ME AR RYELR R 2
™ o (2%)

e @ 2aWeRih T amee  RBHI THme AR LR
PR A O AT AT LR TR B w4 o

e T IR S FRBB AR AR TR EE A B
HINHMAN G A DT IR W AT T BT kR

(a) iz P8 7 JX@mzk,A¢W—§ 73] < RFID #4 ? (2% each)4 |3
wpHEATNZTRAE |~ T334, ewZ B o (2% each) (b) ik B 5B
907 B o A G vRZ A 5E 3] 0 RFID 154 ? (2% each, 24% total)

(a)



oy PRy (108/1)

Rl W (2%) S ER 2E
PETH & L L
BIXEPrEOka | P ZRE O FEA | P FTE AR
TR AZER |\ FETETAL | PEE; AFF
Eﬁ%_ﬁrﬁ?};é ,_P‘. ‘fﬁi}_ﬁ ’I,{j\aég'ﬁ‘ %?.&,ﬂ'gﬂ?it"']‘&%fua
I R e
TR RSBl w | R A B B BE | TMp e
L3 B H G Ao | EHFRE o
&Koo
=

5. i NFC ehz f&1 FH5% © (2% each, 6% total)
Ans:
(1) + ¥ & B#-7% (Card emulation) (2%)

()84t 2L (Peer-to-Peer mode )
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(2) # P =E (Reader)
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